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Question Id : 92090624398 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time :

Question Numbers : (1 to 5)

Question Label : Comprehension

Russia's prime minister signed a set of agreements with China on Wednesday during a trip to
Beijing, describing bilateral ties at an unprecedented high, despite criticism of their
relationship in the West as the war in Ukraine drags on.

Prime Minister Mikhail Mighustin, the highest-ranking Russian official to visit Beijing
since Moscow sent thousands of troops to Ukraine in February 2022, held talks with Chinese
President Xi Jinping and Premier Li Qiang.

With the war in Ukraine in its second vear and Russia increasingly feeling the weight of
Western sanctions, Moscow is leaning on Beijing for support, far more then China on Russia,
feeding on Chinese demand for oil and gas.

The pressure from the West has shown no sign of easing, with the Group of Seven's
weekend declarations singling both countries out on a series of issues including Ukraine. The
(7 agreed to tighten sanctions against Moscow and urged China to press Russia to withdraw
its forces from Ukraine.

Sub questions

Question Number : 1 Question Id : 92090624399 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements

Statement | :  With the war in Ukraine in its third yvear and Russia increasingly
feeling, the weight of western sanctions, Moscow ig leaning on Beijing

for support.

Statement 11 : The pressure from the West has shown no sign of easing, with the
Group of Seven’s weekend declarations singling both countries out on a

series of issues including Ukraine.

In the light of the above statements, choose the correct answer from the options given helow :

(1) Both Statement | and Statement Il are correct
(2) Both Statement | and Statement [l are incorrect
(3) Statement I is true but Statement II is incorrect
() Statement [ is false but Statement 11 is correct

Options :



92090696401. 1
92090696402. 2
92090696403. 3
92090696404. 4

Question Number : 2 Question Id : 92090624400 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Find out one word substitution for the following phrase from the options given below.

‘Mever done or known before’

(1) Unprecedented (2) Unpronounceable
(3) Unprotected (4) Unquiet
Options :

92090696405. 1
92090696406. 2
92090696407. 3
92090696408. 4

Question Number : 3 Question Id : 92090624401 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Pact means:

(1) Oral agreement (2) Coherent understanding

{3) Written explanation (4) Formal agreement between parties
Options :

92090696409. 1
92090696410. 2
92090696411. 3
92090696412. 4

Question Number : 4 Question Id : 92090624402 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Moscow is leaning on Beijing means:

(1)  supporting Beijing (2) depending on Beijing
(3)  giving support to Beijing (4) entered into a pact with Beijing
Options :

92090696413. 1
92090696414. 2
92090696415. 3
920906964 16. 4

Question Number : 5 Question Id : 92090624403 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Pressure from West on Moscow has shown no sign of easing. The underlined phrase

means:

(1) Pressure is increasing.
(2) Pressure is decreasing.
(3) Pressure is continuing at the usual rate.

(4)  Pressure has become insignificant.

Options :

92090696417. 1
92090696418. 2
92090696419. 3
92090696420. 4

Question Id : 92090624398 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension



Russia's prime minister signed a set of agreements with China on Wednesday during a trip to
Beijing, describing bilateral ties at an unprecedented high, despite criticiam of their
relationship in the West as the war in Ukraine drags on.

Prime Minister Mikhail Mishustin, the highest-ranking Russian official to visit Beijing
since Moscow sent thousands of troops to Ukraine in February 2022, held talks with Chinese
President Xi Jinping and Premier Li Qiang.

With the war in Ukraine in its second vear and Hussia increasingly feeling the weight of
Western sanctions, Moscow is leaning on Beijing for support, far more then China on Russia,
feeding on Chinese demand for oil and gas.

The pressure from the West has shown no sign of easing. with the Group of Seven's
weekend declarations singling both countries out on a series of issues including Ukraine. The
(7 agreed to tighten sanctions against Moscow and urged China to press Russia to withdraw
its forces from Ukraine.

Sub questions

Question Number : 1 Question Id : 92090624399 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements ¢

Statement | :  With the war in Ukraine in its third vear and Russia increasingly
feeling, the weight of western sanctions, Moscow is leaning on Beijing

for support.

Statement [1 : The pressure from the West has shown no sign of easing, with the
Group of Seven's weekend declarations singling both countries out on a

series of issues including Ukraine.

In the light of the above statements. choose the correct answer from the options given below :

(1) Both Statement | and Statement Il are correct
(2) Both Statement | and Statement Il are incorrect
{(3) Statement [ is true but Statement I is incorrect

{4) Statement [ 15 false but Statement 11 is correct

Options :

92090696401. 1
92090696402. 2
92090696403. 3
92090696404. 4



Question Number : 2 Question Id : 92090624400 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Find out one word substitution for the following phrase from the options given below.

‘Mever done or known before’

(1) Unprecedented (2) Unpronounceable
(3)  Unprotected (4) Unquiet
Options :

92090696405. 1
92090696406. 2
92090696407. 3
92090696408. 4

Question Number : 3 Question Id : 92090624401 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Pact means:

(1) Oral agreement (2) Coherent understanding

{3) Written explanation (4) Formal agreement between parties
Options :

92090696409. 1
92090696410. 2
92090696411. 3
92090696412. 4

Question Number : 4 Question Id : 92090624402 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Moscow is leaning on Beijing means:

(1)  supporting Beijing (2) depending on Beijing
(3)  giving support to Beijing (4) entered into a pact with Beijing
Options :

92090696413. 1
92090696414. 2
92090696415. 3



92090696416. 4

Question Number : 5 Question Id : 92090624403 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Pressure from West on Moscow has shown no sign of easing. The underlined phrase
means:

(1) Pressure is increasing.
(2) Pressure is decreasing.
(3) Pressure is continuing at the usual rate.

(4) Pressure has become insignificant.

Options :

92090696417. 1
92090696418. 2
92090696419. 3
92090696420. 4

Sub-Section Number : 2
Sub-Section Id : 920906787
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 92090624404 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the correct preposition to complete the following sentence:

| infer your statement that you are not willing to attend the conference;
(1)  from (2) with
(3) across 4) to

Options :

92090696421. 1
92090696422. 2
92090696423. 3
92090696424. 4

Question Number : 6 Question Id : 92090624404 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Choose the correct preposition to complete the following sentence:

| infer your statement that you are not willing to attend the conference;
(1) from (2) with
(3) across (4) to

Options :

92090696421. 1
92090696422 2
92090696423. 3
92090696424. 4

Question Number : 7 Question Id : 92090624405 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the correct spelt word out of the given alternatives:

(1) Puerille (2) Puerile
(3) Puerrile (4) Purrile
Options :

92090696425. 1
92090696426. 2
92090696427 3
92090696428. 4

Question Number : 7 Question Id : 92090624405 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the correct spelt word out of the given alternatives:

(1) Puerille (2) Puerile
3) Puerrile (4) Purrile
Options :

92090696425. 1
92090696426. 2
92090696427. 3
92090696428. 4



Question Number : 8 Question Id : 92090624406 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose one word for the following sentence:

The plants and vegetation of a certain region.

(1 flora (2) fauna
(3) forest (4) wvegetation
Options :

92090696429. 1
92090696430. 2
92090696431. 3
92090696432. 4

Question Number : 8 Question Id : 92090624406 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose one word for the following sentence:

The plants and vegetation of a certain region.

(1 flora (2) fauna
(3) forest (4) wvegetation
Options :

92090696429. 1
92090696430. 2
92090696431. 3
92090696432. 4

Question Number : 9 Question Id : 92090624407 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the correct sentence.

(1) | asked Anita if she had done all sums.
(2) | ask Anita if she do all sums.
(3) | asking Anita if she had done all sums.
(4) | asked Anita if she done all sums.
Options :
92090696433. 1
92090696434. 2

92090696435. 3
92090696436. 4

Question Number : 9 Question Id : 92090624407 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Choose the correct sentence.

(1) | asked Anita if she had done all sums.
(2) | ask Anita if she do all sums.
(3) | asking Anita if she had done all sums.
(4) | asked Anita if she done all sums.
Options :
92090696433. 1
92090696434. 2

92090696435. 3
92090696436. 4

Question Number : 10 Question Id : 92090624408 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Choose the correct passive form of the following sentence.
Do you imitate others?

(1)  Have others been imitated by you?
(2)  Have others being imitated by you?
(3)  Are others imitating you?

(4)  Are others imitated by you?



Options :

92090696437. 1
92090696438. 2
92090696439. 3
92090696440. 4

Question Number : 10 Question Id : 92090624408 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Choose the correct passive form of the following sentence.
Do you imitate others?

(1)  Have others been imitated by you?
(2)  Have others being imitated by you?
(3)  Are others imitating you?

(4)  Are others imitated by you?

Options :

92090696437. 1
92090696438. 2
92090696439. 3
92090696440. 4

Question Number : 11 Question Id : 92090624409 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which Union Ministry of India launched ‘Temple 360° portal?

(1) Ministry of Tourism

(2)  Ministry of Culture

(3)  Ministry of Housing and Urban Affairs
(4) Ministry of Home Affairs

Options :

92090696441. 1
92090696442. 2
92090696443. 3
92090696444. 4



Question Number : 11 Question Id : 92090624409 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which Union Ministry of India launched ‘Temple 360° portal?

(1) Ministry of Tourism

(2) Ministry of Culture

(3) Ministry of Housing and Urban Affairs
{4) Ministry of Home Affairs

Options :

92090696441. 1
92090696442. 2
92090696443. 3
92090696444. 4

Question Number : 12 Question Id : 92090624410 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

‘Guidance’ is the investment promotion agency of which Indian state?

(1 Tamilnadu (2) Gujarat
(3) Kerala (4) Delhi
Options :

92090696445. 1
92090696446. 2
92090696447 3
92090696448. 4

Question Number : 12 Question Id : 92090624410 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

‘Guidance’ is the investment promotion agency of which Indian state?

(1 Tamilnadu (2) Gujarat
(3) Kerala (4) Delhi
Options :

92090696445. 1



92090696446. 2
92090696447. 3
92090696448. 4

Question Number : 13 Question Id : 92090624411 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who among the following is not a Noble Price winner?

(1) Ravindranath Tegore (2) Dr.CV.Raman
(3) Amritaya Sen (4) Homi Jahangir Bhabha
Options :

92090696449. 1
92090696450. 2
92090696451. 3
92090696452. 4

Question Number : 13 Question Id : 92090624411 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who among the following is not a Noble Price winner?

(1) Ravindranath Tegore {2) Dr.CV.Raman
(3)  Amritaya Sen (4) Homi Jahangir Bhabha
Options :

92090696449. 1
92090696450. 2
92090696451. 3
92090696452. 4

Question Number : 14 Question Id : 92090624412 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which country is not the member of 'G 207

(1) India (2) Nepal
(3) China (4) USA.
Options :

92090696453. 1
92090696454. 2
92090696455. 3
92090696456. 4

Question Number : 14 Question Id : 92090624412 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which country is not the member of 'G 207?

(1) India (2) Nepal
(3) China (4) USA.
Options :

92090696453. 1
92090696454. 2
92090696455. 3
92090696456. 4

Question Number : 15 Question Id : 92090624413 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List | with List Il :

List |
{Dance Form)

List Il
(Artist)

(A) Bharat Natyam ()  Sonal Mansingh
(B) Kathak () Rukmini Devi
(C) Kuchipudi (1) Birju Maharaj
(D) Odissi (IV) Yamini Reddy

Choose the correct answer from the options given below:

(1) (A=), B)-(1), (O)-0). (D)-(IV)

(2) (A=), (B)-(1), (C)-(1V), (D)-(1)

(3) (A0, (B)-(I), (C)-(1), (D)-(IV)

(4) (A=), (B)-(), (C)-(), (D)-(IV)
Options :

92090696457. 1
92090696458. 2
92090696459. 3
92090696460. 4

Question Number : 15 Question Id : 92090624413 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List | with List Il :

List I
(Artist)

List |
{Dance Farm)

(A) Bharat Natyam ()  Sonal Mansingh
(B) Kathak ()  Rukmini Devi
(C)  Kuchipudi (1)  Birju Maharaj
(D) Odissi (IV) Yamini Reddy

Choose the correct answer from the options given below:

(1) (A-am), (B)-(1), (O-(), (D)-(IV)
(2) (A=), (B)-(lIT), (C)-(IV), (D)-(I)
(3} (A=, (B)-(I), (C)-(1), (D)-(IV)
(4) (A, (B)-(1), (C)-(), (D)-(IV)



Options :

92090696457. 1
92090696458. 2
92090696459. 3
92090696460. 4

Question Number : 16 Question Id : 92090624414 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In a certain code BROTHER is written as EQRSKDU. How is RECENT written in that code:

(m UHFHQW (2) QDBDMS
(3) UDFDQS (4) UDGDRS
Options :

92090696461. 1
92090696462. 2
92090696463. 3
92090696464. 4

Question Number : 16 Question Id : 92090624414 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

in a certain code BROTHER is written as EQRSKDU. How is RECENT written in that code:

{1 UHFHQW (2) QDBDMS
(3) UDFDQS (4) UDGDRS
Options :

92090696461. 1
92090696462. 2
92090696463. 3
92090696464. 4

Question Number : 17 Question Id : 92090624415 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the word which is least like others in the group:

(1) Bat (2) Artic Term
(3) Ostrich (4) Penguin
Options :

92090696465. 1
92090696466. 2
92090696467 3
92090696468. 4

Question Number : 17 Question Id : 92090624415 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the word which is least like others in the group:

(1) Bat (2) Artic Term
(3) Ostrich {4) Penguin
Options :

92090696465. 1
92090696466. 2
92090696467. 3
92090696468. 4

Question Number : 18 Question Id : 92090624416 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Six friends Astha, Bina, Chetna, Devika, Eshita and Falguni are sitting in a row facing
towards North. Chetna is not sitting beside Devika who is sitting on the extreme right.
Eshita is between Astha and Chetna. Astha is not sitting beside Falguni and Devika. Bina is
between Falguni and Devika. Who is the immediate right of Astha?

(1 Bina {2) Chetna
(3) Eshita (4) Falguni
Options :

92090696469. 1
92090696470. 2
92090696471. 3
92090696472. 4



Question Number : 18 Question Id : 92090624416 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Six friends Astha, Bina, Chetna, Devika, Eshita and Falguni are sitting in a row facing
towards North. Chetna is not sitting beside Devika who is sitting on the extreme right.
Eshita is between Astha and Chetna. Astha is not sitting beside Falguni and Devika. Bina is
between Falguni and Devika. Who is the immediate right of Astha?

(n Bina (2) Chetna
{3) Eshita (4) Falguni
Options :

92090696469. 1
92090696470. 2
92090696471. 3
92090696472. 4

Question Number : 19 Question Id : 92090624417 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Look at the series: 1296, 648, 216, 108, 36, ...

Which one of the following numbers should come next in the series?

(1) 18 (2) 16
(3) 14 4) 12
Options :

92090696473. 1
92090696474. 2
92090696475. 3
92090696476. 4

Question Number : 19 Question Id : 92090624417 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Look at the series: 1296, 648, 216, 108, 36, ..........

Which one of the following numbers should come next in the series?

(1) 18 (2) 16
(3) 14 4) 12
Options :

92090696473. 1
92090696474. 2
92090696475. 3
92090696476. 4

Question Number : 20 Question Id : 92090624418 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In a row of students, the position of Vijay from the left side of the row is 16" and the
position of Vijay from the right side of the row is 28" Find the total number of students in
the row?

(1) 42 (2) 43
(3) 44 (4) 45
Options :

92090696477 1
92090696478. 2
92090696479. 3
92090696480. 4

Question Number : 20 Question Id : 92090624418 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In a row of students, the position of Vijay from the left side of the row is 16" and the
position of Vijay from the right side of the row is 28" Find the total number of students in
the row?

(1) 42 (2) 43
(3) 44 (4) 45
Options :

92090696477. 1
92090696478. 2



92090696479. 3
92090696480. 4

Question Number : 21 Question Id : 92090624419 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A train 220 m long in moving at 54 km/h. Time taken by it to cross a person running in the
same direction with speed of 18 km/h is:

(1) 30s (2) 20s
(3) 25s (4) 22s
Options :

92090696481. 1
92090696482. 2
92090696483. 3
92090696484. 4

Question Number : 21 Question Id : 92090624419 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A train 220 m long in moving at 54 km/h. Time taken by it to cross a person running in the
same direction with speed of 18 km/h is:

(1) 30s (2) 20s
(3) 25s (4) 22s
Options :

92090696481. 1
92090696482. 2
92090696483. 3
92090696484. 4

Question Number : 22 Question Id : 92090624420 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



For the such rate of Interest, the ratio of amount for one year under simple interest and
for two years under compound interest compounded annually is 3:4. Find the rate of
intrest:

X
(1) 15% % (2) 20%
3) 33% % @) 30%

Options :

92090696485. 1
92090696486. 2
92090696487. 3
92090696488. 4

Question Number : 22 Question Id : 92090624420 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

For the such rate of Interest, the ratio of amount for one year under simple interest and
for two years under compound interest compounded annually is 3:4. Find the rate of
intrest:

X
(1) 15? % (2) 20%
3) 33% % @ 30%

Options :

92090696485. 1
92090696486. 2
92090696487. 3
92090696488. 4

Question Number : 23 Question Id : 92090624421 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A and B are the independent events such that P(AUB) = % and P(B)= g .Then P[4}

is equal to:
3 4
1 = P
(1) 2 (2) 3
1 3
3 - 4) =
(3) 5 (4) 3
Options :

92090696489. 1
92090696490. 2
92090696491. 3
92090696492 4

Question Number : 23 Question Id : 92090624421 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A and B are the independent events such that P(AuB)= % and P(B)= g .Then P(A)

is equal to:
3 4
1 = 2) =
(1) 2 (2) 5
1 3
3 = 4 =
(3) 3 (4) 5
Options :

92090696489. 1
92090696490. 2
92090696491. 3
92090696492. 4

Question Number : 24 Question Id : 92090624422 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If 3x+4y = 60 and 4x+3y = 59, then the value of x+y is:

(1 17 (2) 15
(3) 16 (4) 18

Options :



92090696493. 1
92090696494. 2
92090696495. 3
92090696496. 4

Question Number : 24 Question Id : 92090624422 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If 3x+4y = 60 and 4x+3y = 59, then the value of x+y is:

(1) 17 i2) 15
(3) 16 (4) 18
Options :

92090696493. 1
92090696494. 2
92090696495. 3
92090696496. 4

Question Number : 25 Question Id : 92090624423 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A sphere of maximum possible size is made out of a solid woodern cylinder of height
equal to its diameter of the base. The percentage of the wastage of the wood in the
process Is:

(1) 100/3 % (2) 80/3 %
(3) 70/3 % (4) 30%
Options :

92090696497. 1
92090696498. 2
92090696499. 3
92090696500. 4

Question Number : 25 Question Id : 92090624423 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A sphere of maximum possible size is made out of a solid woodern cylinder of height
equal to its diameter of the base. The percentage of the wastage of the wood in the
process Is:

(1) 100/3 % (2) 80/3 %
(3) 70/3 % (4) 30%
Options :

92090696497. 1
92090696498. 2
92090696499. 3
92090696500. 4

Part B: Atmospheric Science

Section Id : 920906484
Section Number : 2

Section type : Online
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Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Yes
Response :

Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 920906788
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 26 Question Id : 92090624424 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List | with List 1l

LIST | LIST I

A. |Transverse nature of light| |. [Wave nature of light
B. IInterference ll. [Dispersion

C. |Prism Ill. [Scattering

D. |Blue appearance of sky [IV. |Polarization

1. A-ll, B-I, C-HIl, D-IV
2. A-ll, B-ll, C-I, D-IV
3. A-lv, B-, C-lI, D-1N
4. A-IV, B-lll, C-ll, D-I

Options :

92090696501. 1
92090696502. 2
92090696503. 3
92090696504. 4

Question Number : 26 Question Id : 92090624424 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 &1 e 1 ¥ HaE i

LGl @

A. ST D! HTURI TSI 1. WHRI DI a1 UPfa
B. SfqHI 1. gRe&m

c. foen Il o]

D. T Bl Hiell fS@=r v. Ydido
A-ll, B-l, C-1lI, D-IV
A-ll, B-llI, C-1, D-IV
A-IV, B-1, C-II, D-lI
A-IV, B-Ill, C-I1, D-|

S

Options :

92090696501. 1
92090696502. 2
92090696503. 3
92090696504. 4

Question Number : 27 Question Id : 92090624425 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List | with List 1l

LIST | LisT

(Material)  |(Property /Application)
A. Fe:0; |. Superconductor
B. INb Il. |Ferromagnetic
C. [Silicon | lll. |Dielectric

D. KTaNbQO4| IV. [5olar Cell

A-l, B-lI, C-lll, D-IV

A-1V, B-lll, C-ll, D-I

A-lll, B-1l, C-I, D-IV

A-l1, B-1, C-1v, D-lll

o ol

Options :

92090696505. 1
92090696506. 2
92090696507. 3
92090696508. 4

Question Number : 27 Question Id : 92090624425 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tt 1 1 01 S feE Sifee

1 @) I 1 @
A. Fe,0s | 3ffc=res

B. Nb 1. W] DY
c. e 1. Wdggd (SRgdfd®)
D.  KTaNbOs IV. ¥R dd

1. A-l, B-Il, C-lll, D-IV

2. A-IV, B-Iil, C-II, D-|

3. All, B-ll, C-I, DIV

4. A, B-L, C-IV, DIl

Options :

92090696505. 1
92090696506. 2
92090696507. 3
92090696508. 4

Question Number : 28 Question Id : 92090624426 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the following in terms of their electrical conductivity in decreasing
order (at room temperature)
A. Copper
B. Metallic Sodium
C. p-type Silicon
D. Diamond
Choose the correct answer from the options given below :
1. ABCD
2. BCDA
3. CD,AB
4 D ACB

Options :

92090696509. 1
92090696510. 2
92090696511. 3
92090696512. 4

Question Number : 28 Question Id : 92090624426 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 f3u T Il &1 I9P1 I FeDdl (HHI D dGHH W ) & °ed HH
AR Bl

A, didl

B. ulfd® HIfggH

c. Ul (p)-UbR 1 fHferpT

D. BRI(3IFHS)

14 fou o fawedi & @ wEl IWR gL

ABCD
B,C,D,A
C.D,AB
D,ACEB

oW B

Options :

92090696509. 1
92090696510. 2
92090696511. 3
92090696512. 4

Question Number : 29 Question Id : 92090624427 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One is labelled as Assertion A and the
other is labelled as Reason R
Assertion A : In a photoelectric effect experiment, the change in frequency
of incident light changes the stopping potential.
Reasons R : Electromagnetic waves carry momentum.
In the light of the above statements, choose the correct answer from the
options given below.
1. Both A and R are true and R is the correct explanation of A
2. Both A and R are true and R is NOT the correct explanation of A
3. Ais true but R is false
4. Ais false but R is true

Options :

92090696513. 1
92090696514. 2
92090696515. 3
92090696516. 4

Question Number : 29 Question Id : 92090624427 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

19 31 By AU U &, U SHEHUA (Assertion A) B ¥ ¥ [ifRad g ol gOv1 39S
10 (Reason R]*Wf{'

SUHYF A: U UHTRIdegd WHIE U0 H, 3mafad U &1 siafd # ulkad=
dIae faHd &1 givafdd sar g |

BRI R: g Ty 0§ GIT g1 8l

JUIRT HYF & 3fTelle H, A9 AU 70 [dFedl 7 § 999 IugeRi Ia¥ &1 994
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A SR R Hel & SRR, A P! Hel RS &

A R R G 81 8 3R R, A DI Ul ARSI &1 &
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AUBI TSI g AT RTEI B

Options :

92090696513. 1
92090696514. 2
92090696515. 3
92090696516. 4
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Question Number : 30 Question Id : 92090624428 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One is labelled as Assertion A and the
other is labelled as Reason R
Assertion A : Nuclear fission and fusion processes are possible source of
clean energy.
Reasons R : Binding energy per nucleon increases in the product elements
post fission or fusion reactions.
In the light of the above statements, choose the correct answer from the
options given below.
1. Both A and R are true and R is the correct explanation of A
2. Both A and R are true and R is NOT the correct explanation of A
3. Aistrue butRis false
4. A s false but R is true

Options :

92090696517. 1
92090696518. 2
92090696519. 3
92090696520. 4

Question Number : 30 Question Id : 92090624428 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

41 g1 Sy fGu U €, Ud iU (assertion A) & 39 ¥ faifad @ ol gERI 39D
L] (Reason Rlaimff

3fFYFA: MF fqEE 3R Haua &1 Ul W8 ol & HHIfed 91 g
HRYI R: IAE dcd B Ul AIHE B 37 H| S 3R IT9- & 918 dgal
gl
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Options :
92090696517. 1
92090696518. 2

el i



92090696519. 3
92090696520. 4

Question Number : 31 Question Id : 92090624429 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A heat engine takes 200) of heat from the hot reservoir and delivers 120)
of heat to the cold reservoir in a cycle. The efficiency of the engine is -

1. 0.8

2. 04

3. 02

4. 0.1

Options :

92090696521. 1
92090696522. 2
92090696523. 3
92090696524. 4

Question Number : 31 Question Id : 92090624429 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

s I 560 U TH HER U 2001 M Tdl ¢ SR UH I A Wd HSR A 1201
aY BSdl 8 | So &I Hriemdl fed-i g

. 0.8

0.4

0.2

0.1

Bow N

Options :

92090696521. 1
92090696522. 2
92090696523. 3
92090696524. 4

Question Number : 32 Question Id : 92090624430 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following quantities remain constant in an elliptical planetary
motion as seen from the sun?

1. Angular speed

2. Kinetic energy

3. Angular momentum

4. Speed

Options :

92090696525. 1
92090696526. 2
92090696527. 3
92090696528. 4

Question Number : 32 Question Id : 92090624430 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T ¥ T8 oIF R U regarg Ug i 7 Fafafaa § 9 eaet g wae
e 82
1. PIuitg TIfg

2. T (PrgAfe®) Fui
3. @Iy Han

4. T

Options :

92090696525. 1
92090696526. 2
92090696527. 3
92090696528. 4

Question Number : 33 Question Id : 92090624431 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A body is suspended from a spring balance kept in a satellite. The reading
of the balance is W1 when the satellite goes in an orbit of radius R and is
W2 when it goes in an orbit of radius 2R. Which of the following is true ?

1. Wi=Ws

2. Wi <W:

3. Wh>W:

4. Wi #W;

Options :



92090696529. 1
92090696530. 2
92090696531. 3
92090696532. 4

Question Number : 33 Question Id : 92090624431 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ush SUIE H Y@ U B ga A U ai dcdi ¢ | STIE 5 U AT R S HaH
S OR el OR 3ffdrd RFST w, 811 8 3R 97d 98 28 391 A ST € o4 sifdd
&7 w, gl oicll 81 g & 9 14 wel g
1. Wi=W;
2. Wi<W;
3. Wi=W,
4, Wiz2W:
Options :
92090696529. 1
92090696530. 2
92090696531. 3
92090696532. 4

Question Number : 34 Question Id : 92090624432 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A person sitting in a chair in a satellite feels weightless because -
1. The person is not accelerated
2. The earth does not attract the objects in a satellite
3. The normal force by the chair as on the person balances the earth's
attraction
4. The normal force is zero

Options :

92090696533. 1
92090696534. 2
92090696535. 3
92090696536. 4

Question Number : 34 Question Id : 92090624432 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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4, GHFIEAYAE

Options :

92090696533. 1
92090696534. 2
92090696535. 3
92090696536. 4

Question Number : 35 Question Id : 92090624433 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Confirmations about quantization of the energy level of atoms are
obtained from

1. Photoelectric effect

2. Franck - Hertz experiment

3. Stern - Garlach experiment

4, X-ray diffraction experiment

Options :

92090696537. 1
92090696538. 2
92090696539. 3
92090696540. 4

Question Number : 35 Question Id : 92090624433 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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92090696537. 1
92090696538. 2
92090696539. 3
92090696540. 4

Question Number : 36 Question Id : 92090624434 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Consider two electric dipoles P, and P, that are oriented perpendicular to

one another and separated by distance r.

F.3

M
=

L
r

p -
P, 3

Because of the electric field produced by P, dipole, P, would experience

1. Force only

2. Torgue only

3. Force and Torque

4. Neither force nor torque
Options :

92090696541. 1
92090696542. 2
92090696543. 3
92090696544. 4

Question Number : 36 Question Id : 92090624434 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090696541. 1
92090696542. 2
92090696543. 3
92090696544. 4

Question Number : 37 Question Id : 92090624435 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Compressibility is defined as the reciprocal of -
1. Shear modulus
2. Bulk modulus
3. Young's modulus
4. Poisson ratio

Options :

92090696545. 1
92090696546. 2
92090696547. 3
92090696548. 4

Question Number : 37 Question Id : 92090624435 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090696545. 1

92090696546. 2

92090696547. 3
92090696548. 4

BowW N

Question Number : 38 Question Id : 92090624436 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :
Statement | : Oscillating electric dipoles are possible sources of
electromagnetic radiation.
Statement Il : X-ray can be generated by bombarding high energy
charged particles onto metals.
In the light of the above statements, choose the correct answer from the
options given below :

1. Both Statement | and Statement Il are true

2. Both Statement | and Statement Il are false

3. Statement | is ture but Statement Il is false

4. Statement | is false but Statement Il is ture

Options :

92090696549. 1
92090696550. 2
92090696551. 3
92090696552. 4

Question Number : 38 Question Id : 92090624436 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



42 gy Ru M €

&Y |- SlegHH fdggd Sedid, f[degd raeid fafexu & duifad did 81
HUA |1: X- [H0 B1, TP YT W 3= Ioll M3 HUf 31 gHER] & I 4
EIEEGI

IR HYA F 1T H, 71 v 7 faeal 7 9 369 3uged IaR &1 994
Hif:

HYF | 3R BYF 1 3 T &

HU | 3R HYA 11 GFI TTAd &

HUF 1 98l &, AfFa FYF 1 Tead &

HYF | GE AT & AT U W E

ol

Options :

92090696549. 1
92090696550. 2
92090696551. 3
92090696552. 4

Question Number : 39 Question Id : 92090624437 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :
Statement | : In the limit of large quantum numbers, the results obtained
from quantum mechanics tend to become the same as those arrived at
from classical physics.
Statement Il : No two electrons can be in the same quantum state.
In the light of the above statements, choose the most appropriate answer
from the options given below :

1. Both Statement | and Statement Il are correct

2. Both Statement | and Statement |l are incorrect

3. Statement | is correct but Statement Il is incorrect

4. Statement | is incorrect but Statement Il is correct

Options :

92090696553. 1
92090696554. 2
92090696555. 3
92090696556. 4

Question Number : 39 Question Id : 92090624437 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090696553. 1
92090696554. 2
92090696555. 3
92090696556. 4
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Question Number : 40 Question Id : 92090624438 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the correct Maxwell's equation(s). Symbols have their usual

meaning.

<ll

A GE=F

0

B=0

=
<l

B

ol

xE =—

)
<1l

<l
| —

D. VB=uJ+

e

)
o
| &

Choose the most appropriate answer from the options given below :

1. Aonly
2. Aand B only

3. A, B, and D only

4 A, B, CandD

Options :
92090696557. 1
92090696558. 2



92090696559. 3
92090696560. 4

Question Number : 40 Question Id : 92090624438 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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B. V.B=0

Options :

92090696557. 1
92090696558. 2
92090696559. 3
92090696560. 4

Question Number : 41 Question Id : 92090624439 Question Type : MCQ Option Shuffling : No Is
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Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A paratrooper and his parachute weight 50 kg. At the instant parachute
open, he is travelling vertically downward at a speed of 20 meter per
second. The air resistance varies directly as the instantancous velocity and
it is 20 Newton when the velocity is 10 meter per second. Obtain the
differential equation of the motion of the paratrooper.

25dv 1V

g e I g
2.dt g

2. EIﬂll—n+2.:5|
g df
25dv 1V

3. :£+I =325
gd g

4, §£+%£=35
gd g

Options :

92090696561. 1
92090696562. 2
92090696563. 3
92090696564. 4

Question Number : 41 Question Id : 92090624439 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1



U BTaT T 3R 38D WINE BT YR 50 kg & | IRIYE & Yo | dg 20 1. Ui
Ydvs B TTd W T W AT 3181 81 g uicR1Y , U dapTd 97 & GHEY
a1 Yedl € 3R I8 20 e ¢ od a7 10 Tl ufd 9578 8| STl 1 Mfa &
fere fEwm e iU g |

g v W,
2.dr g
5 dv

2, e P=5
g di
25adv 1V

g =24 =9
gd g
gd g

Options :

92090696561. 1
92090696562. 2
92090696563. 3
92090696564. 4

Question Number : 42 Question Id : 92090624440 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

2 - r
Consider the differential equation d’y +(j$; + 25y = 0 with initial

.
el

.

condition }{0) - 0. Then the general solution of differential equation is -

1. e *[Acosdx + Bsindx]
2. Ae ™ sin3x

3. ¢ '4""{ Acos3x +bsin3x)

4. Be*sindx

Options :

92090696565. 1
92090696566. 2
92090696567. 3



92090696568. 4

Question Number : 42 Question Id : 92090624440 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

d*y dy
=+6—+25y=10
e dx - aﬁ

U | A ISR BT WHIR AT &1 1T

URY T2 y(0) - 0 ATcll U Sfgcha- THISHII

1. e *[Acosdx + Bsindx]

2. Ae ™ sin3x
.4-'H- % v - '\ll £
3. e “(Acos3x+bsin3x)

-3 .
4. Be " sindx

Options :

92090696565. 1
92090696566. 2
92090696567. 3
92090696568. 4

Question Number : 43 Question Id : 92090624441 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One is labelled as Assertion A and the
other is labelled as Reason R
0 1

I 0
1

5o
Reasons R : The matrix \ | 0/ is skew symmetric.
In the light of the above statements, choose the correct answer from the
options given below.
1. Both A and R are true and R is the correct explanation of A
2. Both A and R are ture and R is NOT the correct explanation of A
3. Aistrue but R is not false
4. Ais false but R is ture

Assertion A : The matrix ] does note have any real eignvalues.

Options :



92090696569. 1
92090696570. 2
92090696571. 3
92090696572. 4

Question Number : 43 Question Id : 92090624441 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

+1a g1 YA f3U U §, Ud SfHEH YA (Assertion A) & B4 H [Rad & df g¥R1 3HS
@ (Reason RIBTUH

(0 1)
HfirByA A: Afea L—' ”J 1 15 dARATdD U (EIGN) HTH T8l grall
0 1)

SRR Aftey ”J U W IAE B

JUER Y & ATl H, 9 QU 70 [Ahedl # 9 999 IugeR IR 1 994
Fiforg

A SR R G HE1 § AR R, A BT el ARSA &

A SR RS T8l 8 AR R, A D! Hel ARSI el &

ATE g AfFTRUS AL B

ATAd g AfbIR UG &

O

Options :

92090696569. 1
92090696570. 2
92090696571. 3
92090696572. 4

Question Number : 44 Question Id : 92090624442 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



If the matrix A is both symmetric as well as skew symmetric, then which of
the following is true?
A. A is a diagonal matrix
B. Ais the zero matrix
C. Ais asguare matrix
D. A is the identity matrix
Choose the correct answer from the options given below :
1. Bonly
2. B, Conly
3. A B Conly
4. A B, CandD only

Options :

92090696573. 1
92090696574. 2
92090696575. 3
92090696576. 4

Question Number : 44 Question Id : 92090624442 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i Afeey A FHHG (RAfe®) iR W-9nid g1 ¥ui 4 ¢ 79 Fafafeaa § 9
HHAATTD B2

A ATS [Awuf At §

B. AU A ARCH 8

C. AUG T Ofce §

D. AUS UgaH Afedd §

1. dadds

2. Hads,C
3. PddA,B,C
4. A B C3RD

Options :

92090696573. 1
92090696574. 2
92090696575. 3
92090696576. 4

Question Number : 45 Question Id : 92090624443 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

If A and B are two matrices such that BA = A and AB = B then A% + B =

1. 2AB
2. 2BA
3. AB

4 A+B

Options :

92090696577. 1
92090696578. 2
92090696579. 3
92090696580. 4

Question Number : 45 Question Id : 92090624443 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

qfe AR G AT IUUGRE fF Ba=A R AB=B, TdA2+B2= .
. 2AB

2BA

AB

A+B

il

Options :

92090696577. 1
92090696578. 2
92090696579. 3
92090696580. 4

Question Number : 46 Question Id : 92090624444 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



2v+4 S5y+7 By+a
3p+45 6y+8 9y+b
If a, b, c are in A. P, then value of 4y+6 Ty+9 10y+c| is -
1. a+c+2b
2. a+b+c
3. 0
4. 2a+b+c

Options :

92090696581. 1
92090696582. 2
92090696583. 3
92090696584. 4

Question Number : 46 Question Id : 92090624444 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

qfg a,b,c U A.P.HE,
2y+4 5y+7 8y+a

3py+5 6y+8 9y+h

a9 dy+6 Ty+9 10y+c EFIHHWW%I
a+c+2b

a+h+c

0

2Za+b+c

Ll o

Options :

92090696581. 1
92090696582. 2
92090696583. 3
92090696584. 4

Question Number : 47 Question Id : 92090624445 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



If the system of following linear equations have non zero solution.
x+day+ az=0
x+3by+ bz=0
x+2c+ cz=10
then & & carein

1. AP
2. GP
3. HP
4 AGP
Options :
92090696585. 1
92090696586. 2
92090696587. 3
92090696588. 4

Question Number : 47 Question Id : 92090624445 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

afe Frafafea v gHisl

Xx+day+az=0

Xx+3by+bz=0

x+2cy+cz=10
HIIHYH IR LA E T a, b, c [EH &
. AP

GP

HP

AGP

BN

Options :

92090696585. 1
92090696586. 2
92090696587. 3
92090696588. 4

Question Number : 48 Question Id : 92090624446 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following is the expression for the convolution theoram?

an

1 E [F(s}.G(s]] = : flu)g(t—u)du

=

4
=

2. L ’[F(s].G(s]J: f(u)g(t—u)du

-
0
¥

_‘f{n)g{r i )du
a

t

4. L [F{s).G[s)] = [ £ (u) g (u)du

0

3 L[ F(s)G(s)]

Options :

92090696589. 1
92090696590. 2
92090696591. 3
92090696592. 4

Question Number : 48 Question Id : 92090624446 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ﬁ?ﬁl@ﬂﬁ@fﬁ??ﬁﬁ@ﬁ?ﬁﬂ%ﬂ@%ﬁﬁﬂmlmaﬁ%
L. & [F[S].G{S]J = _' flu)g(t—u)du

2. 7 [F(.s'}.G(s]]::.f[u)g(r —u)du

i
X

3. L'I[F(.s-).(r‘{.s}] _'f[:.r}g[r i )

]

[

a. I'|F(s)G(s)]= _‘-f(n)g(u)du

0

Options :

92090696589. 1
92090696590. 2
92090696591. 3
92090696592. 4



Question Number : 49 Question Id : 92090624447 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List | with List 1l

LIST | [LisT 11
| Function) (Laplace Transform)
|
2 . S—w
S
B. koshwt| Il. | =5
ST —w
|
C. fcos (wt) | HL ?
S
D. ™ V. | 77 5
ST +mw”
1. A=, B-IV, C-Il, D-I
2. A-lll, B-1l, C-1V, D-l
3. A-lll, B-1, C-ll, D-IV
4. A-ll, B-1, C-llI, D-1V

Options :

92090696593. 1
92090696594. 2
92090696595. 3
92090696596. 4

Question Number : 49 Question Id : 92090624447 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



AT 1 &1 g 1 ¥ e sifore

el Sl
() (AT TUR)
|
At E &
h
B. cosh (wt) I o
=
I
C. cos(wt) . o
m IR;
D. e IV, L a
1. A-lll, B-1V, C-11, D=l
2. A-llL, B-lI, C-IV, D-I
3. A-ll, B-1, C-ll, D-1V
4. A-ll, B-l, C-ll, D-1V

Options :

92090696593. 1
92090696594. 2
92090696595. 3
92090696596. 4

Question Number : 50 Question Id : 92090624448 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The inverse laplace transform of log (s® + 1) is equal to -

1. 2sin(f

5 sin(1)

{
5 cos(t)
I
4. 5 cos(f)

!

Options :

92090696597 1
92090696598. 2
92090696599. 3
92090696600. 4



Question Number : 50 Question Id : 92090624448 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

log (s? + 1) BT 594 (fAeH) AT SHABH (FUTR) &1 [bdd SE & ?
1. 2sin(t)

sin(f
2. _2 rl }

1
y cos(t)
[
cosif)
!

—2

Options :

92090696597 1
92090696598. 2
92090696599. 3
92090696600. 4

Question Number : 51 Question Id : 92090624449 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i 14 1=122 1= 23 |=1

vertices of
1. An equilateral Triangle
2. Anisosceles Triangle
3. Aright angled Triangle
4. Scalene Triangle

ZI +Zj + Zq 2{} Zl" Z:__r._. Z_‘.; are

and then,

Options :

92090696601. 1
92090696602. 2
92090696603. 3
92090696604. 4

Question Number : 51 Question Id : 92090624449 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Iﬂ% |Zl |:|ZE|:|ZE|213?1'Q'Z] '+‘Zz+23 ZO%HEI’, ZI‘ZE‘ZEM
FHE

1. U gAY B

2. U UM Fh

3. U 9SO FHim

4. Whad F@

Options :

92090696601. 1
92090696602. 2
92090696603. 3
92090696604. 4

Question Number : 52 Question Id : 92090624450 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is the polar form representation of the complex
conjugateof z=1-/7

L
4 2o 4

Options :

92090696605. 1
92090696606. 2
92090696607. 3
92090696608. 4

Question Number : 52 Question Id : 92090624450 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



PofRfEa TP 2=1-77 S SR Piopic (FgH) &1 ydhy $u oo g

1. B
e 4

2. —-jﬁ
e 4

o

3. \/E 6’4

.
4 J2¢ 4

Options :

92090696605. 1
92090696606. 2
92090696607. 3
92090696608. 4

Question Number : 53 Question Id : 92090624451 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If Ax) an even function and its Fourier series

Q0
—_ s oz ;
is flx)=ay+ Za” cos— x then the coefficient an is equal to :

=

1 ¢l . g
. a8, ==k f {.T}cus%cﬂr
l p= . nTY
2 a”:I-U f{:-;];:{}sTri\'
2 ¢l 1Y
3 a”:Id f{r]cnsTdr
2 ¢l _ nmx
4 HZIIJLJ{{E]CDS“—*Q{Y
Options :

92090696609. 1



92090696610. 2
92090696611. 3
92090696612. 4

Question Number : 53 Question Id : 92090624451 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

M flx) TH TH BT ¢ ARFESIBIRRFE [ (x) =ay+ P a, ms%x

79 UiF o, [HTH SR E : n=|
1. a, 2%; f{l]LGS?dT
2. 4, =%_;f[v]cnb%¢ﬂ
3. a, —%_-Lf{x}cns—dx
4. a, =1 f{A‘]CDSchT

Options :

92090696609. 1
92090696610. 2
92090696611. 3
92090696612. 4

Question Number : 54 Question Id : 92090624452 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The focus of the parabola 10y = ¥ — 2x + 1 is at the point

5

1. 1 0,=

2,

5

2. | =.0

2

5

3. | L=

2,

a (2

2
Options :

92090696613. 1
92090696614. 2
92090696615. 3
92090696616. 4

Question Number : 54 Question Id : 92090624452 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

ORIETd 10y = 2 — 2¢ + 1 D1 I Y [y A5 R E?
(8§

R )

2| W

—
EJIU\ ‘:: [

—_—

w
T T —

2 |

Options :

92090696613. 1
92090696614. 2
92090696615. 3
92090696616. 4

Question Number : 55 Question Id : 92090624453 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

A class of 50 students has 40, 30 and 25 students who know atleast
English, French and German respectively. There are 20 students who know
both English and French, and 15 students who know both French and
German. Assume that each student knows atleast one language among
English, French and German. How many students know only German and
English, but not French?

1. 5

2. 10

3 15

4, 20

Options :

92090696617. 1
92090696618. 2
92090696619. 3
92090696620. 4

Question Number : 55 Question Id : 92090624453 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

50 ST aTel U P& H 40,30 3R 25 BA U § &I foh HHT: 3iTol, iRk o
SHA S 81 20 BT U8 8 ol [ st iR iRl gl oFd §, 3R 15 81
IR SR S @I § | 98 WiFd 8T b oot IhiRE ofR o A 9 ud®
BEUE NI o FFd1 81 &, 76 U b @13 © ol féb ad oHA iR 3isl oFd
® IR WhiTat 98] o2

1. 5
2. 10
3. 15
4., 20
Options :
92090696617. 1
92090696618. 2
92090696619. 3
92090696620. 4

Question Number : 56 Question Id : 92090624454 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the following in order of general procedure (first step to last step)

for hypothesis testing.

A. Choose an adequate test statistic, decide which values are critical for
the hypothesis & find the sample distribution under the null
hypothesis.

B. Choose a significance level o, for example, 0.05

C. Compute the p-value and conclude if the hypothesis should be
rejected (a = p - value) or not (o < p - value).

D. Define the null hypothesis and the alternative hypothesis such that it
answers the scientific question of interest.

E. Translate the conclusion (rejection or not) from the test to a conclusion
regarding the scientific question of interest.

Choose the correct answer from the options given below :

1. BD.C A E

2. A,B,C,DE

3. BBD ACE

4 D B CAE
Options :

92090696621. 1
92090696622. 2
92090696623. 3
92090696624. 4

Question Number : 56 Question Id : 92090624454 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Uia a1 Udiaor & fore I uidedl & & (WyH TR0 3o =R asH)

afRyd Bifou

A. TOTed {1 H udieiu ifEe &1 gi-g, sa1 o fafor & o aram,
uftaeuH1 & fore wifded g Sfik 7 () RS & Sfdiid T & faoro
CAREEIR]

B. HedYUl ¥R o B T, I&TEI0 & fe0 0.05

C. p- | &1 3fidhaoH o AR T8 Fesy Fapifon & uRee & sdieR
(a2 p-HFE) ST T8 (a < p - AH) BT R

D. Ad UR& U &1 uRHINd ST 3R 39 dab s URE e &1 7AiFe o
gifed aTS YUY HI IR G

E. TRiem & frspy (WIeR &Y a1 9 $Y) &1 a1 Uy & difsd SHHare
frepy FeTa fafoe
1. B.D,C, A, E
2. ABCD,E
3. BD,A,C, E
4, D,B,CAE

Options :

92090696621. 1
92090696622. 2
92090696623. 3
92090696624. 4

Question Number : 57 Question Id : 92090624455 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In an experiment of tossing a fair coin 4 times independently, choose the
correct order of following events in descending order of their probabilities.
A. The number of heads is 2
B. The number of heads is odd
C. The number of heads is 4
D. The number of heads is prime
Choose the correct answer from the options given below :
1. D.B,.C A
2. ADBC
3. DA BC
4 D,BAC

Options :
92090696625. 1
92090696626. 2



92090696627. 3
92090696628. 4

Question Number : 57 Question Id : 92090624455 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

s WY i &1 Wdd $U Y 4 IR IS & U yanT # Fgfeiad genei &1
3P faE! (Uod HH ) HH H "o d g1F B Hr{Ia1si &1 saafed Sifor |

A &8 (R o1 demn2 §

B. 68 Pl UGN fauA g

c. ¢ (R S dEa g

D. £ I UWHI (UISH) 34 &

Hi3 fou e fawedi ® ¥ 98! IR g

D,BCA
ADBC
D, AEC
DB AC

o B o oo

Options :

92090696625. 1
92090696626. 2
92090696627. 3
92090696628. 4

Question Number : 58 Question Id : 92090624456 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If the mean of observation x x+ 3, x+ 5 x+ 7 and x+ 10is 11, then the
mean of last three observation is -

1. 12

o
[

it
I
W= | Wk | —

-
W



Options :

92090696629. 1
92090696630. 2
92090696631. 3
92090696632 4

Question Number : 58 Question Id : 92090624456 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e feu M gddaii x, x + 3, x + 5, x + 7 3R x + 10, HTAI 11(7URE) ©, a9 Hf<H
o T &T ST ATE T B

Options :

92090696629.
92090696630.
9209069663 1.
92090696632.

AW N =

Question Number : 59 Question Id : 92090624457 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is NOT an assumption of the simple liner regression
model [y = a+ Bx+ & ?
1. Distribution of eat any particular xvalue has mean 0.
2. Distribution of eat any particular xvalue is normal
3. Random deviation e;, ey, ..., &, associated with different observation
are dependent on each other
4. Standard deviation of eis the same for any particular value of x

Options :



92090696633. 1
92090696634. 2
92090696635. 3
92090696636. 4

Question Number : 59 Question Id : 92090624457 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FofaRad 3 9 &1 91 U, QiyRo I&6 Ul Higd (y = a+ Bx+e) BT
3IHH T8l 87

1. [0t [A9 x 777 WPe &7 13U &7 51eg YA ElAT &

2. T fa2y x O R e & fdax0 9= 8l 8

3. fafir gafaern @ 9= arfess A9 ey e, ..., e T TR W IAR

g
4. o WIS e x F fadt v fafdny v & oo adi wean @

Options :

92090696633. 1
92090696634. 2
92090696635. 3
92090696636. 4

Question Number : 60 Question Id : 92090624458 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The arithmetic mean of n numbers of a series is X. The sum of first (n—1)
numbers is & The nth number is -

] —

b X%
n

I
2

3. nX—k

n 2%k
H

Options :

92090696637. 1
92090696638. 2
92090696639. 3



92090696640. 4

Question Number : 60 Question Id : 92090624458 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U HE P n GBS STINRAD X T UYH (n— 1) TS0 FHTTT & 2
Tand SN HHA B -
1. 14

2. —X-—k
2
3. nX—k
2.
—X—k
"
Options :
92090696637. 1
92090696638. 2
92090696639. 3
92090696640. 4

Question Number : 61 Question Id : 92090624459 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Mean absolute deviations of the series 3, a+ d a+ 24 ..., a + 2ndfrom its
mean is ?

1 nin+1)d

2n+1
5. nd
2n+1
3 (n+1)d
2n+1
g (2n+1)d
n(n+1)
Options :

92090696641. 1
92090696642. 2
92090696643. 3
92090696644. 4



Question Number : 61 Question Id : 92090624459 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

@, a+d,a+2d, ..., a+2nd YT BT 39H A ¥ Y& A1 dge- B foran
QI ?

1, Hin+ IE
2n+1

5 nd
2n+1

3 (nn+1)d
2n+1
2n+1)d

s SO
nin+1)

Options :

92090696641. 1
92090696642. 2
92090696643. 3
92090696644. 4

Question Number : 62 Question Id : 92090624460 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Goodness of fit of a distribution can be tested by -
1. t-test
2. F-test
3. Chi - square test
4, Z-test

Options :

92090696645. 1
92090696646. 2
92090696647. 3
92090696648. 4

Question Number : 62 Question Id : 92090624460 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

U fqavul & fhe &1 -4 [ gR1 udiem fdgr o gddi ¢
. g

. Ut THieu

. DISI-TRTAIT (TS THET &)

. SiS-udiem

T

Options :

92090696645. 1
92090696646. 2
92090696647. 3
92090696648. 4

Question Number : 63 Question Id : 92090624461 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statemens :
Statement | : Mean and standard deviation are called descriptive statistics
and are used to support hypotheses
Statement Il : Regression and Analysis of variance are called analytic
statistics and are used as final steps in editing and characterising study
participants
In the light of the above statements, choose the most appropriate answer
from the options given below :

1. Both Statement | and Statement Il are correct

2. Both Statement | and Statement Il are incorrect

3. Statement | is correct but Statement ll is incorrect

4. Statement | is incorrect but Statement Il is correct

Options :

92090696649. 1
92090696650. 2
92090696651. 3
92090696652. 4

Question Number : 63 Question Id : 92090624461 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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U IUGI GeHIiiral &1 faLar ofik dures &1 voe & A sifdn sRu $ dr
R [ e 8
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Hifor:

HUT | IR FYT S HE

YT | R BYF S el Tel &

HYF | el &, AlhT YT 11 Ted &
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ol ol ol

Options :

92090696649. 1
92090696650. 2
92090696651. 3
92090696652 4

Question Number : 64 Question Id : 92090624462 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One is labelled as Assertion A and the
other is labelled as Reason R
Assertion A : Statistical methods are necessary in pollution science as it is
impossible to characterize all properties of the environment everywhere all
of the time.
Reasons R : Statistics such as means, standard deviation and confidance
interval provide summary of properties or characteristics of the
environment.
In the light of the above statements, choose the correct answer from the
options given below.

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are ture and R is NOT the correct explanation of A

3. As true but R is not false

4. Ais false but R is ture

Options :

92090696653. 1
92090696654. 2
92090696655. 3
92090696656. 4



Question Number : 64 Question Id : 92090624462 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

14 1 YA [RU T §, U 3B (Assertion A) & TU H [oRad € ol g¥RI34S
U (Reason nﬁ?'wfr'

YA UgHUl faga § witeeiy faft sravgs & ife R ama R o e
ugfaRor & Hi 70 F1 U H1 SERd gl
SN R: HifEAS!, S & T2, 9@ [Faa- SR fAyrgar 3faid, ardrawul &
fagraTt a1 7ol H1 AR UeF R B |
IR B P fTelld H, -9 AU 70 fdFedl § 9 999 SUgR IR H1 994
HifeT

1. ASRREH TSI E SRR, AT HEl AT &

2. ASIRREH Ul g SRR, ADI Hel TR 78l &

3. AYEl S AfFA RUE AR ©

4. ATEIAEI g AP R TR &

Options :

92090696653. 1
92090696654. 2
92090696655. 3
92090696656. 4

Question Number : 65 Question Id : 92090624463 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The types of the errors in hypothesis testing are described as -
(a) Type | error : The error of rejecting Ho, when Ho is true.
(b) Type Il error : The error of failing to reject Ho, When Ho is false
The only way to gurantee that neither type of error occurs is :
1. Use a subset of population for analysis in decision making
2. Use a subset of sample for analysis in decision making
3. Use the entire population for analysis in decision making
4. Use the entire sample for analysis in decision making

Options :

92090696657. 1
92090696658. 2
92090696659. 3



92090696660. 4

Question Number : 65 Question Id : 92090624463 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

UR@ el U1&U1 & SR garel Ffedl & UPRI &1 ufvurer =g & it g
A. UBR 1: fE Ho &1 3RdIHd B Dl If2, Fd Ho I Bl
B. UBR II- IfC Ho B 3&dipd P H SHHE 8- D1 Ffe Td Ho 3H ©
{4 T O -1 U 31 98 G v ¢ fob fosefi ue fob 3fie =i 21l
. fofg &7 & fa, [awamo & ve wuip & U Iu=d &1 3uanT
. Fofa @4 & for, fawasr & Iuag=d &1 39dnt
. Tofg &7 & fere, faarsor & Ygol @ &1 3ua
. TAofa o & forg, e & |quf 51 &1 39

N

Options :

92090696657 1
92090696658. 2
92090696659. 3
92090696660. 4

Question Number : 66 Question Id : 92090624464 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What is the approximate bandwidth of a typical voice signal?
1. 2Hz
2. 3kHz
3. 20 MHz
4. 30 MHz

Options :

92090696661. 1
92090696662. 2
92090696663. 3
92090696664. 4

Question Number : 66 Question Id : 92090624464 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



U Ul -1 Hhde ot SSfagy (38 WHR) T fdhdHl 8l 82

1. 2Hz

2. 3 kHz

3. 20 MHz

4. 30 MHz
Options :

92090696661. 1
92090696662. 2
92090696663. 3
92090696664. 4

Question Number : 67 Question Id : 92090624465 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One is labelled as Assertion A and the
other is labelled as Reason R
Assertion A : In any incident of hacking or spamming, the perpetrator’s
location on the network can be tracked through the IP address
Reasons R : IP address is a unique combination of numbers and periods
which acts as an identity for the network device when it connects to the
internet.
In the light of the above statements, choose the correct answer from the
options given below.

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are ture and R is NOT the correct explanation of A

3. Aistrue but R is false

4. Ais false but R is true

Options :

92090696665. 1
92090696666. 2
92090696667. 3
92090696668. 4

Question Number : 67 Question Id : 92090624465 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090696665. 1
92090696666. 2
92090696667. 3
92090696668. 4

Question Number : 68 Question Id : 92090624466 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Consider the following memory storage capacities and arrange them in
increasing order.
A. Exabyte
B. Terabyte
C. Petabyte
D. Zettabyte
Choose the correct answer from the options given below :
1. BBCD A
2. BACD
3. BCAD
4 CBAD

Options :

92090696669. 1
92090696670. 2
92090696671. 3
92090696672. 4



Question Number : 68 Question Id : 92090624466 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Frofafad AR (@I UeR) ¥Re amare R AR fHhe ik 3% 39 9gd
HH 7 eqafeyd Hifee

A. UNTEISC (Exabyte)

B. CIEI3C

c. UerEnge

D. GicIase

B,C,D,A
B,A,CD
B,C,A, D
C,BAD

Pl s o

Options :

92090696669. 1
92090696670. 2
92090696671. 3
92090696672. 4

Question Number : 69 Question Id : 92090624467 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following are close examples of DBMS software?
A. Mango DB
B. Amazon RDS
C. Oracle database
D. Tensor Flow
Choose the correct answer from the options given below :
1. B,Donly
2. A B, Donly
3. A C, Donly
4. A, BandConly

Options :

92090696673. 1
92090696674. 2
92090696675. 3
92090696676. 4



Question Number : 69 Question Id : 92090624467 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Frofafad 74 &9 31 & uH-ug 9pdm & Audie 3818 a2
A. TSt

B. HUGH N S TH

c. HRHd Seray

D. o8I Ul

B, D only

A, B, Donly

A, C, Donly

A, Band Conly

i Pl

Options :

92090696673. 1
92090696674. 2
92090696675. 3
92090696676. 4

Question Number : 70 Question Id : 92090624468 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In an E-R diagram, identifying relationship is used for -
1. Strong entity type
2. Weak entity type
3. NULL entity type
4. Complex entity type

Options :

92090696677. 1
92090696678. 2
92090696679. 3
92090696680. 4

Question Number : 70 Question Id : 92090624468 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090696677. 1

92090696678. 2

92090696679. 3
92090696680. 4

2w

Question Number : 71 Question Id : 92090624469 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Conditional operator (7 ) is a -
1. Unary operator
2. Binary operator
3. Bitwire operator
4. Ternary operator

Options :

92090696681. 1
92090696682. 2
92090696683. 3
92090696684. 4

Question Number : 71 Question Id : 92090624469 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FH AT TUNER (? ) T 82
. R SiTReR

. WA Sffve

. faearR siigeer

. T STRER

Bow p

Options :

92090696681. 1
92090696682. 2
92090696683. 3



92090696684. 4

Question Number : 72 Question Id : 92090624470 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List 1l

LIST | LisT 1
(Device) (Example)

A. |Pointing devices . [Bar code reader
B. Handheld devices | Il. |Touch screen
C. Optical devices 1. [Trackball

D. |Audio-visual devicesd| IV. [Microphone

1. A-l, B-ll, C-lll, D-IV
2. A-lll, B-1, C-ll, D-IV
3. A-ll, B-ll, C-, D-IV
4. A-l, B-IV, C-lI, D-11l

Options :

92090696685. 1
92090696686. 2
92090696687. 3
92090696688. 4

Question Number : 72 Question Id : 92090624470 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Al 1 &1 gl 1 4 e sifere

il i
e Jaledd[
A. @EfeT fEasa . SRS IS
B. BEECE [Sdgy Il. eI wDIA
c. 3ffperd fEargd . ¢h-dld
D. 3T frgore f¥arey Iv. AEHIEH
1. A-l, B-ll, C-lll, D-IV
2. A-lll, B-l, C-1I, D-IV
3. A-lll, B-ll, C-1, D-IV
4. A-l,B-IV, C-Il, DIl
Options :

92090696685. 1
92090696686. 2



92090696687. 3
92090696688. 4

Question Number : 73 Question Id : 92090624471 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The description of a database is called -
database state

database schema

database snapshot

database instance

B L P

Options :

92090696689. 1
92090696690. 2
92090696691. 3
92090696692. 4

Question Number : 73 Question Id : 92090624471 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

189 % auil &1 &1 H81 odl 87
1. S ®E
2. ol [
3, oY Quie
4. STTEY 2RI

Options :

92090696689. 1
92090696690. 2
92090696691. 3
92090696692. 4

Question Number : 74 Question Id : 92090624472 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The main printed circuit board in a computer is called -
Processor chip

Motherboard

1/O chip

Load / store chip

ol

Options :

92090696693. 1
92090696694. 2
92090696695. 3
92090696696. 4

Question Number : 74 Question Id : 92090624472 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Us HIe’ 1 g fife s ufiuy (withe) 918 & F @el Wil g
1. TR EY
2. AREE
3. 3irg/3fifay
4. WeER M

Options :

92090696693. 1
92090696694. 2
92090696695. 3
92090696696. 4

Question Number : 75 Question Id : 92090624473 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The acronym 'VOIP' stand for

Voice Over Internet Prototype
Video Over Internet Prototype
Voice Over Internet Protocol
Video Over Internet Process

g ol i

Options :

92090696697. 1
92090696698. 2
92090696699. 3



92090696700. 4

Question Number : 75 Question Id : 92090624473 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Higrg Wsg 'vorp' (d1.37.3m3 Ul &1 a1 3 &2
1. 9159 R §<T UIesy
2. fafEd ofi e UieTersy
3. digd IR §erAe Uieidbla
4. fafed) sfia S=Ae Uy

Options :

92090696697. 1
92090696698. 2
92090696699. 3
92090696700. 4

Question Number : 76 Question Id : 92090624474 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following tectonic plates are moving away from each other?
1. Indian plate - Eurasian plate
2. Nazca plate - South American plate
3. Pacific plate - North American plate
4. Eurasian plate - North American plate

Options :

92090696701. 1
92090696702. 2
92090696703. 3
92090696704. 4

Question Number : 76 Question Id : 92090624474 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090696701. 1
92090696702. 2
92090696703. 3
92090696704. 4

Question Number : 77 Question Id : 92090624475 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

S - seismic waves can't travel through
1. Quter core
2. Inner core
3. Lower mantle
4. Upper mantle

Options :

92090696705. 1
92090696706. 2
92090696707. 3
92090696708. 4

Question Number : 77 Question Id : 92090624475 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

s fooe s yadt il fhal 11 e i & |

1. dEdPIS
2. Hiai® Hrs
3. el #ed (WER)
4. HU Hed (UER)

Options :

92090696705. 1

92090696706. 2



92090696707. 3
92090696708. 4

Question Number : 78 Question Id : 92090624476 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Slices of oceanic crust obducted onto continental margins are called -
1. Troctolites
2. Ophiolites
3. Graptolites
4. Theodolite

Options :

92090696709. 1
92090696710. 2
92090696711. 3
92090696712. 4

Question Number : 78 Question Id : 92090624476 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

IR ¥de & o1 il & Aeifedta diwidl ur sifirees & g, &
Heald 82

sfiftpaTarge
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fireTemse

Options :

92090696709. 1
92090696710. 2
92090696711. 3
92090696712. 4

B oW MO

Question Number : 79 Question Id : 92090624477 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which among the following is also called Low Velocity Zone?
1. Crust
2. Mantle
3. Lithosphere
4. Asthenosphere

Options :

92090696713. 1
92090696714. 2
92090696715. 3
92090696716. 4

Question Number : 79 Question Id : 92090624477 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FofafEd 7§ 9 63 g 3 & s erarg?
. W@fCrust}

G0 (Mantle)

T HEd

, Wﬂ%’f’l:ﬁsthenosphere}

Options :

92090696713. 1
92090696714. 2
92090696715. 3
92090696716. 4

Question Number : 80 Question Id : 92090624478 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The fault in which hanging wall block moves down relative to the footwall
block is called as

1. normal fault

2. reverse fault

3. strike slip fault

4. joints

Options :
92090696717. 1
92090696718. 2



92090696719. 3
92090696720. 4

Question Number : 80 Question Id : 92090624478 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090696717. 1
92090696718. 2
92090696719. 3
92090696720. 4

Question Number : 81 Question Id : 92090624479 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following features in correct sequence from contients to deep
sea.
A. Abyssal Plains
B. Continental Rise
C. Continental Shelf
D. Continental Slope
Choose the correct answer from the options given below :
1. CD,AB
2 B;C.BA
200G B BEA
4. C,B. D A

Options :

92090696721. 1
92090696722. 2
92090696723. 3
92090696724. 4



Question Number : 81 Question Id : 92090624479 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Hia &8 U el &1 3P HeTeulg 9 71 s &1 SR WId §U %H H aagiyd
Hifoy

A, SATIY AGH

B. Heligdia3Iga

c. Helfgdlg ¥

pD. Helfgdty gard

4 fou T faeedl o 9wl IR g

C.D,AB
D,C B A
C,D,B A
C,B,D A

B p e

Options :

92090696721. 1
92090696722. 2
92090696723. 3
92090696724. 4

Question Number : 82 Question Id : 92090624480 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One is labelled as Assertion A and the
other is labelled as Reason R

Assertion A : X-rays can be used to probe the crystal structure of solids.
Reasons R : The wavelength of X-rays is of the order of interatomic spacing.
In the light of the above statements, choose the correct answer from the
options given below.

Both A and R are true and R is the correct explanation of A

Both A and R are ture and R is NOT the correct explanation of A
A is true but R is false

A is false but R is ture

ol

Options :

92090696725. 1
92090696726. 2
92090696727. 3
92090696728. 4



Question Number : 82 Question Id : 92090624480 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

13 I YA AU U, U S (Assertion A) P T H fRifEd § o 51 396
U] (Reason H}Ia?_ TUH

HEBYA A: x- fH0T &1 I9dT 1 vard &1 ety 3= &1 Ud @1 &
fore forar S &1

HRU R: x- [H00 B J1 <2 3fa: WRAUGY e F AN & WE e g |
IR HYA F 31T |, A1 U e fawal 7 § U698 IJugead IR &1 984
Fife

A STR R ST TSl § SR R, A P Hel AR §

AR REMI HEI € 3R R, AD] UG AT el &

ATEI E AfFT R UBI T2 B

AVEI TR AP RTE &

B

Options :

92090696725. 1
92090696726. 2
92090696727. 3
92090696728. 4

Question Number : 83 Question Id : 92090624481 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following vary significantly over space and time at boundary
layer in ambient atmosphere

1. Sulphur dioxide

2. water vapour

3. carbandioxide

4. Nitrogen dioxide

Options :

92090696729. 1
92090696730. 2
92090696731. 3
92090696732. 4

Question Number : 83 Question Id : 92090624481 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

7 7 A 1 bt 19 uRaia argded d a8 g1 dsR R THY SR o8 & AR
e 18] Tl 62

AP S5 HFHES

. A

. BlE SRS

. S STERE S

Options :

92090696729. 1

92090696730. 2

92090696731. 3
92090696732. 4

BowW R

Question Number : 84 Question Id : 92090624482 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List | with List 1l
LIST | JLisT I
A_ (Crust - Mantle boundary I. 5150 km
B. ICore - Mantle boundary Il. B5 km
Outer core - Inner core

e boundary . [150 km

Lithosphere - Asthenosphere
boundary

A-lll, B-1, C-IV, D-lI

A-Il, B-1, C-1V, D-1II

A-1l, B-Iv, C-I, D-1Il

A-l1, B-1V, C-lI, D

IV. 2900 km

il b e

Options :

92090696733. 1
92090696734. 2
92090696735. 3
92090696736. 4

Question Number : 84 Question Id : 92090624482 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



! | 1 gt i 8 fieE sifse

e | gt

A. JOgl- UrER diHn . 5150 febet
. Ig- UIEaR W . 35 fast

. dIg<1 this-3Hidive ®rs J|r m. 150 fHHt
. WHST- TG |im 1v. 2900 fHH
A-1ll, B-I, C-IV, DIl

A-1l, B-I, C-IV, D-lI

A-ll, B-IV, C-I, D-ll

A-1ll, B-IV, C-II, D-|

o B T =

BwoN e

Options :

92090696733. 1
92090696734. 2
92090696735. 3
92090696736. 4

Question Number : 85 Question Id : 92090624483 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following elements in ascending order of their relative
abundance in the whole earth .
Silicon
lron
Magnesium
Oxygen
. Nickel
hoose the correct answer from the options given below :
1. BACDE
2 ECADB
3 CABED
4. BD.ACE

moMNnwmze

)

Options :

92090696737. 1
92090696738. 2
92090696739. 3
92090696740. 4

Question Number : 85 Question Id : 92090624483 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Hia a8 7 ol 1, Fegef gudl uR 3@ Whe UeRdl & ded gU S § oaied
e

IGIRGAE]

e

i

. STaTSH

e. Afda

4 feu e fadedl & 4 |l I g
B.A,C,D,E

E.C,A.D,B

C,A,B ED

B.D,ACE

o0 ®p

e b

Options :

92090696737. 1
92090696738. 2
92090696739. 3
92090696740. 4

Question Number : 86 Question Id : 92090624484 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following statements is incorrect with reference to El Nino?
1. Shift in cloud bands from west to east pacific ocean
2. Weaker than normal trade winds
3. Rising air in the western equatorial pacific ocean
4. Warmer than normal surface temperature in the eastern pacific
ocean

Options :

92090696741. 1
92090696742. 2
92090696743. 3
92090696744. 4

Question Number : 86 Question Id : 92090624484 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



El Nino & HgH # FafafRed & 3 &1 W 3= Tad 82

. Ui wed HeTTR ¥ gal Ui HeNR &1 3R digd Ueel &1 ol
HIHAI &8 a1 8 3{U&THd HHAR

. it Hedt g HERPR H HUR 36 gdl

. YA U ARRIR § SfUafid W Sde dI9HF 3 TH 9dg diaEE
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Options :

92090696741. 1
92090696742. 2
92090696743. 3
92090696744. 4

Question Number : 87 Question Id : 92090624485 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

High presure condition is observed at the centre in -
1. Cyclones
2. Hurricanes
3. Anticyclones
4. Typhoons

Options :

92090696745. 1
92090696746. 2
92090696747. 3
92090696748. 4

Question Number : 87 Question Id : 92090624485 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

feae @5 7 I <aTd B fRufd 38 ol 8
HIZRIA

g

LGRIEESIC]

<TG

Options :

92090696745. 1

92090696746. 2
92090696747. 3

ol



92090696748. 4

Question Number : 88 Question Id : 92090624486 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List | with List 11

LIST | JLIST 1l
A. |Land breeze l. [Strong down slope wind in mountain area
B. [Katabaticwind | Il. |Blows from sea to land
C. |Geostrophic wind] I11. |N ight-time flow of wind from land to sea
D. [Sea breeze IV. |Blcnws parallel to isobars
1. A-ll, B-1, C-1V, D-1II
2. A-ll, B-1V, C-lIl, D-|
3. A-lV, B-lll, C-I, D-Ii
4. A-lll, B-1, C-IV, D-II

Options :

92090696749. 1
92090696750. 2
92090696751. 3
92090696752. 4

Question Number : 88 Question Id : 92090624486 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Gt 1 1 = 1§ e S

gt i

A REAUAR 1. Uddig & H, g & 9Ty drel WeRirre gl
. PeRfed arg 1. TE Y WA BT 3R TR &

cyfaadtag . Id S I R G WG DI R T8 &
S AR V. SHGE 36 & AR ggdl 8

1. A-ll, B-1l, C-IV, D-Ill

2. A-l, B-IV, C-ill, D-I

3. A-IV, B-lll, C-l, D-Nl

4, A-lll, B-1, G-IV, D-ll

O N m

Options :

92090696749. 1
92090696750. 2
92090696751. 3
92090696752. 4



Question Number : 89 Question Id : 92090624487 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Thermocline is weak to non-existent in the oceans of
A. tropics
B. polar regions
C. temperate climates
Choose the most appropriate answer from the following
1. Aand B only
2. Aand C only
3. Band Conly
4. Bonly

Options :

92090696753. 1
92090696754. 2
92090696755. 3
92090696756. 4

Question Number : 89 Question Id : 92090624487 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

b= HerErRT | draydurdl He a1 faemr A8l gl
A, JUHeaE™

B. ydleaf &=

c. 2idr Seary

1. PaAdA ARB
2. HAAAINRC
3. HadB AR C
4, hdds

Options :

92090696753. 1
92090696754. 2
92090696755. 3
92090696756. 4

Question Number : 90 Question Id : 92090624488 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Match List I with List 11

LIST | LIST 11
A. [Tropical Climate] |. |Cold and covered by snow due to elevation
B. [Dry climate Il. JAverage annual temperature > 18° C
C. High land lIl. JAverage annual temperature < 10° C
D. [Cold climate IV. [Evaporation is more than precipitation
1. A-ll, B-llI, C-1V, D-|
2. A-ll, B-1V, C-I, D-1II
3. A-lll, B-IV, C-I, D-Il
4. A-lll, B-1, C-IV, D-I
Options :

92090696757. 1
92090696758. 2
92090696759. 3
92090696760. 4

Question Number : 90 Question Id : 92090624488 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T 1 1 gl 11 ¥ e Sifere

gt il
A. SUGeERg oaarg 1. $ams & SR Rd 3R d% gRIgdl
B. Y[&h Sfddrg . 3G aftie araHHE > 18° C
C. Sl WHt 111, S a1t ATHIH < 10°
p. 2iid v, o ¥ sfftre arefiero
1. A-ll, B-lll, C-IV, D-l
2. Adl, B-IV, C-I, DAl
3. Adll, B-IV, C-I, D-lI
4. Al B-l, C-IV, D-lI
Options :

92090696757. 1
92090696758. 2
92090696759. 3
92090696760. 4

Question Number : 91 Question Id : 92090624489 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Trade winds are observed in -
1. 30° N-60°N
2. 60°N-90° N
3. 30°N-30°S
4, 30°S-60°S

Options :

92090696761. 1
92090696762. 2
92090696763. 3
92090696764. 4

Question Number : 91 Question Id : 92090624489 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1. 30°N-60"N
2. B0°N-90°N
3. I°N-20°5
4., 30°5-60°5

Options :

92090696761. 1
92090696762. 2
92090696763. 3
92090696764. 4

Question Number : 92 Question Id : 92090624490 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statemens :
Statement | : The troposphere is thicker at the equater than the poles
Statement Il : Convection currents in atmosphere can transport heat and
dust particles to greater heights.
In the light of the above statements, choose the correct answer from the
options given below :

1. Both Statement | and Statement Il are true

2. Both Statement | and Statement Il are false

3. Statement | is ture but Statement Il is false

4. Statement |l is false but Statement Il is ture

Options :

92090696765. 1
92090696766. 2
92090696767. 3
92090696768. 4

Question Number : 92 Question Id : 92090624490 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A Y Py e e §:
B 1 a1 & BT IUST Y € TR &HvS 4 Tl garg |
HUF |1 IUSH H JURYT Hagd 4RI FHT 3R 4d & HUI Bl 3HUH FW d
Tl 81
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Hifee

1. PYF | AR BYF ST TS &

2. YA | IR BYA 1 S G AL &

3. YT eI €, Al YA 1 7T9d &

4. YT 1TAd g, AfbA FUA 1T §

Options :

92090696765. 1
92090696766. 2
92090696767. 3
92090696768. 4

Question Number : 93 Question Id : 92090624491 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



New ocean floor is created at
1. Mid-oceanic ridges
2. Ocean - ocean convergent boundary
3. Ocean - continent convergent boundary
4. Continent - continent convergent boundary

Options :

92090696769. 1
92090696770. 2
92090696771. 3
92090696772. 4

Question Number : 93 Question Id : 92090624491 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T41 HEHTRIY dd ®al W &dl 87
1. H- HEHFRIY Hedh
2. HENHIRIY -HeRTRE [0 i
3. WEMNRIY -Heifgdi o g
4. Helfgdry - Hetfgud sfyaor i

Options :

92090696769. 1
92090696770. 2
92090696771. 3
92090696772. 4

Question Number : 94 Question Id : 92090624492 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :
Statement | : Most shortwave radiations reaching the earth are within the
visible portion of the spectrum and the wavelength of maximum energy
flux from the sun is at 0.48 pm, which is visible to human eye as green
light.
Statement Il : The earth's atmosphere is largely opaque to most of the
long wave spectrum, however, a window between 8 and 11 pm permits
escape of portion of long wave energy to space.
In the light of the above statements, choose the most appropriate answer
from the options given below :

1. Both Statement | and Statement Il are correct

2. Both Statement | and Statement Il are incorrect

3. Statement | is correct but Statement Il is incorrect

4. Statement | is incorrect but Statement Il is correct

Options :

92090696773. 1
92090696774. 2
92090696775. 3
92090696776. 4

Question Number : 94 Question Id : 92090624492 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

JR A FYA UM E:
FY 1. 9l X Yga arail Sitbdan BIct a8 arell fafdor WeeH & 230 Ui H
Bl & SR g4 ¥ SHf¥daH 3ol &1 JE1 &) a7 o= 0.48 um R &ldl &, S fb
W4 T3 B €2 UHTY & U A o Rid et &1
S |I: Jd! &1 a1 Hed AfUHaR Tl ai g2 arell ol & e ur el
g Sad! gum H 11 pm%ﬁﬁﬁaﬁmﬁmﬂﬁaﬁﬁmﬂﬁﬂ Sfafee 7 @
adle
IUIEd YA F TP H, 19 fau e [FFal 7 9 999 Iugd IR 1994
HIfoIe:

1. Y1 AR Y 1 S R B

2. YT 3R BYT 1 SH TS TE

3. ©YF | T8I €, Afch &Y 1 TTAd &

4. YA T, AfbA FUA 1 TS &

Options :

92090696773. 1
92090696774. 2
92090696775. 3



92090696776. 4

Question Number : 95 Question Id : 92090624493 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Amount of water vapor in a given volume(gm of water vapour/cubic meter
of air) air at particular time and temperature is called as -

1. Relative humidity

2. Absolute Humidity

3. Effective Humadity

4. Actual Humidity

Options :

92090696777. 1
92090696778. 2
92090696779. 3
92090696780. 4

Question Number : 95 Question Id : 92090624493 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U 32 gAY SR QOH UR 91y @1 e 710 Sy 7 9 &1\ (drEE]
11/ &4 &1 U Hie agd) B 791 Hel olidl &

1. AT sl

2. 7 3fTEan

3. WYl ST

4. AR 3Mme

Options :

92090696777. 1
92090696778. 2
92090696779. 3
92090696780. 4

Question Number : 96 Question Id : 92090624494 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The removal of clay, silt and sand particles from the land surface by wind is
called
1. weathering
2. shifting
3. saltation
4. deflation
Options :
92090696781. 1
92090696782. 2

92090696783. 3
92090696784. 4

Question Number : 96 Question Id : 92090624494 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

UaH & gR1 YW ag A REl W, g ok X0 & ST gUFHIsol &
ERIG IR

3Yerd

B GIGELY|
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Options :

92090696781. 1
92090696782. 2
92090696783. 3
92090696784. 4

Question Number : 97 Question Id : 92090624495 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the correct statements
A. Thiobacillus bacteria helps in conversion of S to S04,
B. Nitrosomans bacteria helps in conversion of NH4" into NOz".
C. Nitrobacter bacteria helps in conversion of NO;™ to NO3~.
D. Thiobacillus ferroxidans helps in oxidation of Fe*? to Fe™.
Choose the most appropriate answer from the options given below :
1. A Cand D only
2. B, Cand D only
3. A Band D only
4. A, B, CandDonly

Options :

92090696785. 1
92090696786. 2
92090696787. 3
92090696788. 4

Question Number : 97 Question Id : 92090624495 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

el DY B A
A. TUgiafRes Siam s 61 so.2 H uRadT H grar #d g1
B. WISCRIMIMIG Sl NHa B NO; W URdd- # HerddI dXd 8 |
C. AIECIadex S NO;” DY NO;™ B UREd T Herddl &3d § |
D. ey thsatisy Fe'2 T Fe'? & GHIHIU H HERIA Hd &1
1. HadA, C 3R D
2. Fdds, c AR D
3. PAdA, B 3ND
4. AB,C3IR D

Options :

92090696785. 1
92090696786. 2
92090696787. 3
92090696788. 4

Question Number : 98 Question Id : 92090624496 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statemens :
Statement | : Ozone, aided to some extent by O; at shorter wavelenth,
filters out all of sun’s UV light in 200 - 290 nm range.
Statement Il : Ozone is not completely effective in shielding us from light
in the UV-B region and neither ozone nor any other constituent of clean
atmosphere absorbs significantly in UV A range.
In the light of the above statements, choose the most appropriate answer
from the options given below :

1. Both Statement | and Statement Il are correct

2. Both Statement | and Statement Il are incorrect

3. Statement | is correct but Statement 1l is incorrect

4. Statement | is incorrect but Statement Il is correct

Options :

92090696789. 1
92090696790. 2
92090696791. 3
92090696792. 4

Question Number : 98 Question Id : 92090624496 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HYA | 3H, TS 68 aP AMUTHd Il a8 o8] W 0, DI GeHdl 4, Y4 &
RIS U1 BT (200 - 290 nm T8 =4 o TR ) & eRcll IR 8] S <ol & |
HYF 1 HISH, 88 UV-B fboi F srafvd & # guf 39 3 uurdt 81 8 siR A dl
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HifoTe:

1. &Y 1 3R FYF 11 S WEl E

2. U1 IR FYF 1 SHI G T &

3. &Y 9l €, Afe HUH 1 7Tdd §

4. YT 7T ©, Ak HYA 1 TR &

Options :

92090696789. 1
92090696790. 2
92090696791. 3
92090696792. 4



Question Number : 99 Question Id : 92090624497 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following gases are green house gases?
Nitrogen dioxide
Nitrous oxide
Ozone
Sulfur hexafluride
. Water vapor
Choose the most appropriate answer from the options given below :
1. A, B, Cand Eonly
2. A C,DandEonly
3. B, CandE only
4. B, C, Dand E only

monmeE

Options :

92090696793. 1
92090696794. 2
92090696795. 3
92090696796. 4

Question Number : 99 Question Id : 92090624497 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[EEINIECRRE R AR RS DG KRR R A
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1. PaAA, B, CARE
2. HaAA, C, D ARE
3. &dds, C AR E

4. ®9dB,C,DAR E

Options :

92090696793. 1
92090696794. 2
92090696795. 3



92090696796. 4

Question Number : 100 Question Id : 92090624498 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statemens :
Statement | : Soil is weathered end-product of the actions of climate and
living organism on soil parent material with a particular topography over
time.
Statement Il : Clays have high cation-exchange-capacity due to negative
charges associated with them.
In the light of the above statements, choose the most appropriate answer
from the options given below :

1. Both Statement | and Statement Il are correct

2. Both Statement | and Statement Il are incorrect

3. Statement | is correct but Statement Il is incorrect

4. Statement | is incorrect but Statement Il is correct

Options :

92090696797. 1
92090696798. 2
92090696799. 3
92090696800. 4

Question Number : 100 Question Id : 92090624498 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

EIE AR SIE RGN S
HY 1: Jel, TAdry, R Sifad Sid! &1 9e1 91 dard iR v fag aesy 3R
T & 1Y 351 B33 &1 v Sifqn ITIE 81
YA 11: T D1, BUNHE AW & RO 3= dherg [T &Har gidl |
ST HYF F el H, 19 fau 1 fdeadl 3 9 999 Iuge IR F1 999
Dt

1. BY | AR BYT 1 A HBT§

2. ®YA 1 3R HYF 1 S FE S

3. &Y TEIE, Afch HUF 11 TTAd &

4. ®YF | TTAd &, Afdpd YA 11 Hel &

Options :
92090696797. 1



92090696798. 2
92090696799. 3
92090696800. 4



